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6 x 5 = 30 

Alex a 30 œufs. 

30 – 10 = 20 
Il reste 20 œufs. 

4 x 5 = 20 

Les moutons ont 4 pattes. 

6 x 2 = 12 

20 + 12 = 32 Elle a compté 32 pattes. 
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74 – 68 = 6                 68 – 9 = 59                   47 – 9 = 38 

74 – 9 = 65                  68 – 3 = 65                  47 – 3 = 44 

74 – 3 = 71                 68 – 47 = 21                 9 – 3 = 6 

(74 – 47 = 27) 
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62 – 59 = 3                        59 – 34 = 25                   34 – 8 = 26 

62 – 8 = 54                        59 – 8 = 51                     34 – 5 = 29 

62 – 5 = 57                        59 – 5 = 54                       8 – 3 = 5 

(62 – 34 = 28) 

le double 

la moitié 

la moitié 

le double 
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